B N ERE

1. LEA4

TH4 R 7ERII T FEETARR R Y N U — 7 HEET G TF
T4 BB EFRT R X ORI 1 4% 1 35 () FHRAIIEBT
2. TENE

1) EB4

EHRNTWREIERET & B #)

2) X LM AT M T3

3) T £ 240 H [ H 0 THE TH28H
£ S0 84 3H24H

4)  TEHEgHE

i@ Aokt 5w m



=l N IFH
FERNGRE i
THE4 | R7TERITRIIEBEFTARSRR Yy hU— 7 EEFEHTH
TEHEXSy - TfE - fER Bz ¥ & & K Hm i N 7
B R A (B2 BLR) Y 1 26, 077, 000
1 BN TR %A Y 1 26, 077, 000
L3—SW = 1 26,077,000 |EYa—LH % A47B :
ZNN 1 =
TARy b EERGEER: AC100V ;
IR HD 1 %
WA DC4 8 VER ;
Y al 1 e
FEAER " HALEY 2l
Y al 1 e
1000BASE-X #/" 2—V (SFP)
Y al 2 e
10/100/1000BASE-T &% a— ;
B L2 2V 1 26, 077, 000
B B Y 1 834, 177
= E AR T = 1 163, 787
L 3—SWH#ET = 1 111,890 | L 3 —SWaki# - fii: 1 2V
B - FoiR T = 1 51,897 | ERPIELH 5 m
ZANL
CV5. 5mm2-2C ;
J= N ECAR 9 m
ZANL
BB —7 0
BN 16.2 m
VA
CV5. 5m2-2C ;
B NELRR 1.2 m
7 7
-1 - B P K N o3 L i3 D




A NERE i
TH4 | R 7ERITREAIFEFARR Ry bV — 7 FEE T L
THXSy - TH - fly HOfr ¥ & & fH # bl N g
HEERT—7 0
YAThAVT) V=yay = 1 549, 890
YATMYT ) Vv=yay = 1 549,890 |VATAAVT) V=yav 1 =
T s = 1 120, 500
ik L =X 1 120, 500 | #@ek (B 1 v
[ELRE Ty v 834, 177
im R # = 80, 331
B SIS = 1,331
Bl B2 K 1,331 | #EXIBIEHEEXDB (ETAY AT A%k H]) 1 iy
AAD%
ol # (RKE L) v 79, 000
Wi TR = 914, 508
B B X 1 381, 000
e T E v 1 4, 569, 000
Pl e 2y v 1 1, 026, 000
e A = 1 3, 543, 000
TRl v 1 5, 864, 508
—RE R % X 1 1, 338, 492
g

i@ Aokt 5w m



B N ERE

=
THEL | R 7TERINTHRANFEBITARR Ry b U — 7 EE T TH

THEXS - T - FER - va ¥ = & i 1l M 3
T =AM Y 1 33, 280, 000

i@ Aokt 5w m




